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48. O0O0OO0ODOOOODOOOOOOO
1) Arcsinz + A L (c1<e<t 2) Arct Arctan » m/2 w>0)
(1) Arcsinz + recosz = o (-1<z<1) (2) Arctanz + retan — = _x/2 (x<0)
(3) Arccos(sinm):ﬁ—m (|m|<ﬁ) 4) Arccos#:Arctana: (x >0)
2 -2 V14 22
T 1 Vi+z—y1—-2
5) Arcsin ———= = Arctanz z € R 6) tan | — Arcsinz | = -1<z<1
O) Aresin o © tan (3 Arsine) = VEE S (e <y
49. 0O0O0OO0OOO
(1) f(zx)DO (0,c0)DODOOOODODODO li_>m fl(z)=a000 li_)m{f(x+l)—f(:v)}:a.
(2) f(z)O [a,00)000, (a,00) 0000000 1i_>m flz)=f(e) 000 f'(¢)=0(a<ec<o0)00 OO
gooo
(3) f(z)0 [¢,b] 0000000 (z) >00000000 10 c€[a,b]0 f'(¢)>0000000f(a) < f(b).
50. f(x)0 C200000000000000
(1) f'(z)>0(zeR)000D0f(z)000000000000000O0
(2) f"(2)#00000A000 00 fz+h)=f(2) +hf'(e+6h)0000000lme=1/20000
—
. fleth)—2f(@)+ fle—h) _ .,
(3) lim ¢ — (@) .
51. [a,b]0 f"(x)00000(eb)0 f"(z)0000000000000000
1 1
(1) ) = fla) + 5= a){f'(a) + f'(B)} = 5 (b= )’ ()
a+b 1
@ 10 =@+ 0-ar (5 + 5;0- 0%
52. A A i i l1<z<1)000000
. rctanw—w—§+€—---+(—)l QTIL——1+ (— ST S )
T
000 z=10000000=-=1—-=-+4+—=—"--- —1)nt g ogg
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53. Taylor 000 (00O Maclawrin 0 00)0 0000000000 0O0O0O0O
. VIt —-1-2/2 . e —eTT =2 . 1 1
(1) alclg%) z? @) alclg%) T —sinzx ®) alclg%) 22 sin’z
54. Maclaurin 0 000000 000O0OODOOOO
372 an—l 372 an—l m2n
1— R T cet<l-— R
ST an_1 <¢ <17ty en—1)! " @n)
55. 00000 MaclawrinO OO QOOGOOO
L S (2n)! S g2ntl
1 — _ln n 2 — _ln n+2
log(1 + ) e
DT 5
®) 1+z Z2n+1
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